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Navn:

Regnestykket fra kortet:
33 -2 =31

Deft rigtige regnestykke:
33-2-=31

Regnestykket fra kortet:
84 -2=79

Deft rigtige regnestykke:
84 -5=79

T7

A .
Sgo2 Sproggren

TAL | BEVAEGELSE




	Navn: 
	Regnestykket fra kortet 33   31Row1: 
	Det rigtige regnestykke 33 2  31Row1: 
	Regnestykket fra kortet 84   79Row1: 
	Det rigtige regnestykke 84 5  79Row1: 
	Regnestykket fra kortet 33   31Row2: 
	Det rigtige regnestykke 33 2  31Row2: 
	Regnestykket fra kortet 84   79Row2: 
	Det rigtige regnestykke 84 5  79Row2: 
	Regnestykket fra kortet 33   31Row3: 
	Det rigtige regnestykke 33 2  31Row3: 
	Regnestykket fra kortet 84   79Row3: 
	Det rigtige regnestykke 84 5  79Row3: 
	Regnestykket fra kortet 33   31Row4: 
	Det rigtige regnestykke 33 2  31Row4: 
	Regnestykket fra kortet 84   79Row4: 
	Det rigtige regnestykke 84 5  79Row4: 
	Regnestykket fra kortet 33   31Row5: 
	Det rigtige regnestykke 33 2  31Row5: 
	Regnestykket fra kortet 84   79Row5: 
	Det rigtige regnestykke 84 5  79Row5: 
	Regnestykket fra kortet 33   31Row6: 
	Det rigtige regnestykke 33 2  31Row6: 
	Regnestykket fra kortet 84   79Row6: 
	Det rigtige regnestykke 84 5  79Row6: 
	Regnestykket fra kortet 33   31Row7: 
	Det rigtige regnestykke 33 2  31Row7: 
	Regnestykket fra kortet 84   79Row7: 
	Det rigtige regnestykke 84 5  79Row7: 
	Regnestykket fra kortet 33   31Row8: 
	Det rigtige regnestykke 33 2  31Row8: 
	Regnestykket fra kortet 84   79Row8: 
	Det rigtige regnestykke 84 5  79Row8: 
	Regnestykket fra kortet 33   31Row9: 
	Det rigtige regnestykke 33 2  31Row9: 
	Regnestykket fra kortet 84   79Row9: 
	Det rigtige regnestykke 84 5  79Row9: 
	Regnestykket fra kortet 33   31Row10: 
	Det rigtige regnestykke 33 2  31Row10: 
	Regnestykket fra kortet 84   79Row10: 
	Det rigtige regnestykke 84 5  79Row10: 


